


6
6.1
6.1.1
3
6.1
10,000m?
14, 000m? 10,000m?
8,000m? 5,000m? 10,000m?
6.1
- B e R &g (md) 2
N\ RS
R 2E (%) B3 (05| T B EA ()
5,000m>3k i 4 4.0 7,253 0.6 1,813
5,000m?LL_E
' 35 34.7 278,311 24.2 7,952
10,000m> sk &
10,000m?LL 62 61.4 865,935 75.2 13,967
it 101 100.0 1,151,499 100.0 11,401

- 106 -



6.1.2
14,000m?3
] 14,000m?
] 3,200m? 4,500m?
m 1,000m3/ha
] 14,000m?x1,000m3/ha=10,000 1,400.0m?*
6.
6.2
D E F Dx E
005 / 3,200 160.0
0.002 / 4,500 9.0
400 1258 / 21 26.4
500x 700 ¢ 200mm 0557 / 750 417.7
613.1
G H | Gx H
33 x20 x 1.20 792.0 1 792.0
0.2 0.8
792.8
C F | 1,405.9

- 107 -




6.1 14,000m?

8,000m?

8,000m?

1,600m? 3,196m?
1,000m3/ha
8,000m?x1,000m3*/ha+10,000 800.0m?3

- 108 -




6.3
D E F DxE
0.05 / 1,600 80.0
0.002 / 3,196 6.3
400 1258 / 33 415
500x 700 ¢ 200mm 0557 / 866 482.3
610.1
G H I Gx H
20 x8 x 1.25 200.0 1 200.0
0.2 4 0.8
200.8
C F | 810.9

(A NN

6.2

8,000m?

- 109 -




6.2
6.2.1
4 3
0.
3,000m?
90%
400m? 1,000m?
1,700m? 1,000m? 3,000m?
4,000m? 3,000m? 5,000m?
6.4
4\ /A%& E%(mz) TE - + 2
ﬁ*ﬁzﬂ %“é(%) %“ﬁ(%) $ﬂ§&iﬂ@*ﬁ(m )
1,000m25k i 411 77.0 | 157,787 22.9 384
1,000m%LL
' 97 182 | 161,110 23.4 1,661
3,ooomzikiﬁﬁ
3,000m%LL £
’ 11 2.1 41,777 6.1 3,798
5,000m” K i
5,000m2LL
' 8 15 58,075 8.4 7,259
10,000m> 3k &
10,000m?LL_E 7 1.3 | 270,261 39.2 38,609
it 534 100.0 | 689,010 | 100.0 1,290
6.2.2
400m?3
] 400m?
n 80m?
™ 600m3/ha
] 400m?>x600m3/ha=10,000 24.0m?3

- 110 -




6.5

D E F DxE
005 / 80 4.0
300 0258 / 15 3.8
400 1258 / 4 5.0
500x 700 ¢ 200mm 0557 / 37 20.6
334
334
. 25m :
I~ 1
(15.0m)
=]
gl [
S
> S i
11 11 I H
£ (=) I
) @ |

500x 700¢ 200

=

=

: .-

(23.0m) % %E% A

=

e e e ) e e e ) S S ) ) ) ) [ [ e e e e e e e

6. 400m?

- 111 -



1,700m?

1,700m?

340m?

1,000m3/ha
1,700m?x1,000m3*/ha+10,000 170.0m?

6.
D E F Dx E
005 / 340 17.0
300 0258 7/ 30 77
400 1258 / 6 75
500x 700 ¢ 200mm 0557 / 42 23.3
55.5
G H I GxH
25 x 16 x 0.3 120.0 1 120.0
120.0
C F | 1755

-112 -




\ 25m
U
400
4.0m 4.0m
—_— =t
500x 700¢ 200 =
S
¥ £
S © S
S N S
10.0m

v
i s

4,000m?

1,700m?

e

4,000m?
800m?
1,000m3/ha

4,000m?x1,000m*/ha+10,000 400.0m?®

- 113 -




D E F Dx E
005 / 800 40.0
10 x 20 2.0 417947 / 1 417.9
457.9
457.9
1 P8 PS8
e

4,000m?

- 114 -




[T:
=

(am—)

u]

6. 4,000m?

- 115 -

6.
D E F DxE
005 / 800 40.0
300 0258 / 50 129
400 1258 / 6 75
500x 700 @ 200mm 0557 / 86 47.9
108.3
G H | GxH
40 x25 x 03 300.0 1 300.0
300.0
C F | 408.3
80.0m :
| \ 40m
|
£
2 \\ T7.0m
7500 700
U :
400 b5
5 13om | o
8
£
S
(o]
@\ 17.0m




6.3
3 4 3
6.9
1,000m?
90
540m?
6.9
Iz n # 2
= AN EﬁFﬁwﬁﬂ ﬁ%(m) TE - + 2
AR 21E (%) BB ()| E R (m)
500m’sEE | 1.233 77.2 | 239,607 | 27.9 194
500m?LA E
211 13.2 146,566 17.0 695
1,000m>sk i
2
1.000m AE | 4o | 55 | 173486 | 202 1,606
3,000m K i
3,000m?LL_E 46 2.9 | 300,676 34.9 6,536
i 1,598 100.0 860,335 100.0 538
6.3.1
(@) 540m?
540m?3
600m3/ha
540m?x600m3/ha=10,000 32.4m?3
6.10
6.7
6.10
< HEulTE-2EE HEH=E BREREKE
o | fEk % S B ol =T
% BEET | 2BUNET A0mK—5Aao 7 —F) 1258 m/Ef-hr s[@m | 100 m
= EBENUTF [T EKE (IE) (400 X 400) ¢ 150mm 0.344 m/m-hr 65[m 223 m
: FEKMHEEEE (10.0m X 5.0m) 0.020 m/mi-hr 50.0 [m 1.0 m
it 333 m

- 116 -




A

27m

MTEKETE

=BEUR.E T (4008)
/ (25.0m)/
6.7 540m?

-117 -

400 x 400 ¢ 150



6.4
6.4.1
3 4 3
6.11
8m 73%
Am 6m
4m
6m
8m
12m
6.11
ERXS X #Em?) | BEl&E®
TRE 4mEki& 847,343 13.2
158 4mblt 6mXkiHE 2,047,728 320
28 6milE 8mkid 1,788,456 28.0
128 8mklE 10mkiH 636,527 9.9
TEE10mLLE 12mkiH 669,206 10.4
g8 12mLl 419,775 6.5
R 6,409,035 100.0

- 118 -



6.4.2
4m
L LU
80m?
600m3/ha
80m2><600m3/ha+10,000 4.8m?3
6.1 6.13 6.8
mL 300B
6.12 4m L
1% @5 sk %ﬁﬁl\?ﬁi-;%ﬁ% E%_B&E E&é%i:fB%
i BEFEY  |LBARSEET (¢500) 1191 m/Efi-hr 4| & 47 m
% B EEHE 0.020 m/m-hr 60.0 [m 1.2 m
it 59 m
m LU 240
6.13 4dm LU
5 Bt - 28 HREH= BREXKRE
g 15 s v TEZ SBEE |_B§5I31 C[;;\X%Bi
i REAE  [FARBURE (240/) 0.364 m/m-hr 40(m 145 m
% B EEhE 0.020 m/m+hr 66.4 [m 1.3 m
it 158 m

- 119 -




(L fa1iE]) [LUEIE]
L#% LTz
BEEY | 0 mmay —
(¢500) ($500) . ‘
o os2} @ s |
| | — | | |
B : 0.84 B : B
u | - u | -
— | | | — | ||
i ! i |
| B | ]
u | - u | -
= | u = | -
- | et ‘
| B \ B
i | 1 | ‘ 1
- : || H— } ||
| & | i [l & | i
1 : i [l x| i
= i i = % i
Sl O®: S| & H
[ I
n ! | n ! |
| |
B | = B | =
u | - u | -
i ! 1 a | i
| |
] | — B | -
- | || |
| |
B | — B | —
] I = B | |
A M H eA [Sssssssn
EEEY [ | H 2B ES T | -
(¢ 500) IN : Y (¢ 500) In } B
v ml i |m v ! ]
N o
0.45 _ 0.34
6.8 4m
4.0m L 0.50mx2 x20.0m .0m
4.0m LU 0.34mx2 x20.0m 66.4m

- 120 -




6m
LU

120m?
600m3/ha
120m?x600m3/ha+10,000 7.2m?3

6.14

6.15 6.9
mL 300B
6.14 6m L
= Hi TR 258 HEHE HEXERE
2 =37 ik i = ATNE
% BEET  |LAEBEET (6500 1192 m/B/-hr NERR 27 m
=n 2EFEYT  |LEAEREFEYT (HER) 1.020 m/Ef-hr 1| & 1.0 m
i BKERE 0020 m/m-hr | 1000 |m 20 m
it 77 m
m LU 240
6.15 6m LU
;,% *if:ll” }]‘EE&% i{ﬁﬁ? %' 5%@% EQIEBﬁi E%%ij ?BE
bt
i BERAE | FRAEEURE (240/) 0.364 m/m-hr 40|m 145 m
& BKEGHE 0020 m/m-hr | 106.4 [m 21 m
B 16.6 m

-121 -




(LRzfEIiE] (LU;E])
L#Z Lz
REEY BEFY
(¢500) 6.0 . (¢500) | 6.0 [
\F ’\/— I g
T o 082y | O TH | |
i 084 i : i
| | | | | | | | | |
| ! | | I
| | | B
- | i g | i
BE i [ =z i
- K } || mi) S : |
atsrelsires = P =
1 & B 1 & B
o 1 & B o 1 % ! B
o u I - o u | -
i 1 ] i | ]
- | - |
| | | B | | I B
| B | B
B | 1 B | u
i 1 i i | N
| LA ] i | i
’ - (HB) n Z . n
BBEY /_57‘- [ 2BEFT - : |
(¢ 500) ; Ll (¢ 500) — | a
— NLb ‘ | —— u | n
L+ O 1 [ 4 [ | u
[l [+
0.50 0.34
iisssssisssesasiastasesed I=:
Lol IE
it
0.84
6.9 6m
6.0m L 0.50mx=2 %20.0m 100.0 m?
6.0m LU 0.34mx=2 %x20.0m 106.4 m?

- 122 -



8m

2m

160m?
600m3/ha

160m*x600m*/ha+10,000 9.6m?>

6.16
6.10
6.16 8m 2m

= HiErE- 282 REH=E REXKRE

2 g L A B C=AxXB
% BEET LA EBET (¢500) 1191 m/B/-hr NEE: a7 m
E B2EFEY |LBAREET (HER) 1.020 m/&Ef-hr 3| Ei T 30 m
: BK L 0020 m/m-hr 138.0 |m 27 m
it 104 m

- 123 -




L F L £
B2EFY |, 8.0 ) RBFET
(¢500) ‘ (¢ 500)

D] wm I —
BEEY | NN
ekl R 28Ty
| |
| ml
i | il
- | |
- |
| |
a | ]
- | | |
- |
| |
i | i
| B } | |
o B 7K | —
ST o D -
| o } | ||
| |
| | ]
| ‘ ]
- |
| | ]
[1 LA B
M EEFET -
N &8 -
01111t e u R
REES | REEY
6.10 8m 2m
8.0m L 300B 0.55mx2 x20.0m
=138.0m?

-124 -



4) 12m 2.5m

] 240m?

m G-1 1. m?

m 600m3/ha

] 240m?x600m3/ha=10,000 14.4m?*

6.1 6.1
6.17 12m 2.5m
D E F Dx E

0050 7/ 147 0.7
0020 7/ 72.8 14
0753 7/ 17.0 12.8

14.9

14.9

P87

- 125 -




g 2.5 0 7.0 0 2.5 K
" ¢ ” gl
'y _“_v D : 7'y

|
|
|
- |
"\ | —
|
|
[Te) L !
© 1 | o
| =
| *
| £l
|
|
|
A 4 . I
- |
o _ || 0150 |
8 | v _
. 0.50
| \ A
| N
|
[
|
|
=N k: |
— [To)
: 0
|
|
|
|
: -
v : |D ~
[+
0.76 |6|.50
0.75 £ B3 BT ors
e
1.1
6.11 12m 2.5m
0.76mx 10.0 0.15 x2 x2 m?
2.5mx=x20.0m 1.06m><10.0m
0.15%x20.0 x2 m?

- 126 -



6.5
6.5.1
3 4 3
6.18 6.19 6.20
143.6
150 500m? 259.8
60
150m?
260m?
6.18
o Ry ST 14 A
sExafy bl | GEH (h) **’Ja %ﬁ*ﬁ
H B & Hhish 28,875 356.7 1235
Jt R #hisg 22,028 305.4 138.7
E 1| Hhisg 30,324 469.2 154.7
RhHhis 22,908 374.0 163.3
Bl iz 14,528 198.9 136.9
HEASEHE 118,663 1,704.3 143.6

KPR R TH N D EISN TV SIEENH AT, Hl B D
WHEHBSREHEFT LI,

-127 -



6.19
E
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